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AN AFCIAQ
HE: =MAE HECA P
et AIQIEOIE AXE SR8 X4 CER-ED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O8 =9 HI|(HU) 220,000& = 2004 4,400
Oct=ot9l 7,000& = 2004 1,400
oz 3,000& = 4304 1,290
O&3d 10,0002 * 434 430
301 LA Z 500,000 300,000 200,000
1MIIEEES 500,000 300,000 200,000
OEYZIE =HA B&3 500,000, 000& 500,000
307 g1+l & 10,000 10,000 0
05 RIZteE = 10,000 10,000 0
OTMOHIHEl MEEZE 2 25 Mg DE
&l 10,000, 000& 10,000
Z2ABNE3 A& 3,000 3,700 A 700
201 ¢er2d| 3,000 3,700 AT700
01 At 22/l 3,000 3,700 A 700
O=sgZd1N=E 22 EEAUHE MH
200& = 3,0000H 600
o=s28ZnsE Wsitzg w7l 3,000& » 3008 900
Ootst2 2e 228
150,000& * 6K 900
OOISh2 2t dAIS &Y HH
30,000& * 2004 600
Z2OTY A =3 3,932,000 583,000 3,349,000
201 Lt 3,000 0 3,000
02 =224l 3,000 0 3,000
OZuA2Hc FAMEAY IS
250,000& = 12& 3,000
401 A& HIZ 201 Y| 3,929,000 583,000 3,346,000
01 A& HI 3,920,000 581,000 3,339,000
ORad HZHel Z2HH A (L=950m)
500,000, 000& 500,000
OF=Un B2MLAY 1,900,000
O3 AtdI 1,832,000,000& 1,832,000
O& A& 68,000,000& 68,000
O&YZ JiI2d 2 A 1,500,000
O3 Atdl 1,445,000, 000& 1,445,000
O& A& 55,000,000& 55,000
O 2tE HHIALY 20,000,000& 20,000
03 A& S THHI 9,000 2,000 7,000
OZZMLAS RCHEI 9,000,000 9,000
2HEOl OFS T2 AlgH2 ZHAE 251,800 200,000 51,800
< 75,000
Al 176,800




S AFC X2
B =MAS ABCA P
Ee: AI2ENHE AEE SQ2 D25 =4 (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
401 AlEHIZL 2 0HY| 251,800 200,000 51,800
== 75,000
Al 176,800
01 Al&H| 250,000 199,000 51,000
O0|gHYR 2tE0] OISL2 AlYEH2l ZAAL
& 250,000,000& 250,000
&< 75,000
Al 175,000
03 AlE 201 Y| 1,800 1,000 800
OAI& 20| 1,800,000 1,800
20 AA Al 342,448 221,584 120,864
401 AlEHIZL 2 0HY| 342,448 221,584 120,864
01 Al&EH| 340,000 220,000 120,000
OAXE S92 HAIN U AL
10,000,000& * 3000 A 300,000
OANXE S+ AHANL L HEHAIE SN2
A 20,000,000 20,000
OdEd ZZ20tUE RANES=AY
20,000,000 20,000
03 AlE 20| 2,448 1,584 864
OA&E S0t 340,000,000& * 0.72% 2,448
|4 otM 2e| 23 49,004 7,800 41,204
AES HEEYE L S22 9,004 7,800 1,204
201 et 9| 1,000 1,000 0
01 AP 2t 2] H| 1,000 1,000 0
OH=FZ2 FAZe EIME MESK Gt
M & 100€ * 5,0000f = 23] 1,000
301 et A= 8,004 6,800 1,204
11 J|EtE A2 8,004 6,800 1,204
OMLIN, Il AES AT 24
174,000 ~ 6% = 33| 3,132
OSTBRAUL AES AHAE 4
174,000 * 149 * 23] 4. 872
A2 BSFE NSAMNY 40,000 0 40,000
402 SI2F X201 M 40,000 0 40,000
01 BIZtXIEANYE X (KM ) 40,000 0 40,000
OATE BSFE XA
20,000,000& * 202 40,000
HESHAY|(HA=CI A 28,008 30,208 A 2,200
| =23 H| 28,008 30,208 N 2,200
Jl2&H| 28,008 30,208 N 2,200
201 gBt2dd| 12,048 14,248 N 2,200
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01 At 22l 12,048 14,248
OJlegR+=d 233l 6,000
OJIEZHl (S2dl) 6,048

202 O4dl 12,960 12,960

01 =S LHA YI 12,960 12,960
OJIEZ 12,960, 000& 12,960

203 YR =&l 3,000 3,000

04 FN2ELSZ=TH| 3,000 3,000
OJ|EH (152! 0lct) 250,000& = 12& 3,000






